
 cCymbals x̆ Œ .x̆ x̆ ‰ Jx̆
chokes

q=120

 .x̆ x̆ ‰ Jx̆  .x̆ x̆ ‰ Jx
>

crash

∑ x. x. x. x.
hi hats

x. x. x. x.

Cym.
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x. x. x. x. x. x. x. x. x. x. x. x. x. x. x. x. x. x. x. x.
hi hats

  

Cym.

15

   x. x. ‰ J5 ≈ .J5
crash

x. x. x. x.
hat

  

Cym.

23

   x. x. ‰ Jx ≈ .Jx
crash

x. x. x. x.  

Cym.

30

x. x. ‰ Jx ≈ .Jx
crash

x. x. x. x. x. x. x. x. 5 5 5 5 5 5
3 3

crash

5 5 5 5 5 5 5. Œ
crunch

x. x. x. x.
hi hat

Cym.

37

   œ Œ .œ œ ‰ Jœ
crash

 .œ œ ‰ Jœ

Cym.

42  .œ œ ‰ Jœ œ œ œ œ œ œ œ. œ
crunch slide

œ Œ 
choke

Eye of the Tiger

Survivor


